
SUPPORT
 Superior steel construction - under the bed storage
 Heavy duty cross supports with tubular legs
 Raised Perimeter Edge 

 Welded wire grid for continuous support
 Quick and easy assembly
 Elegant ebony powder coated finish

BENEFITS
 Raised and Rounded Edge for Secure Placement 

    and Safety
 No Box Spring or Foundation Needed
 Powder Coated Finish  for durability

   10 year Limited Warranty

PLATFORM BASE

PLATFORM BASE
PANELS

An A l te rna t i ve  to  a  T rad i t iona l  Founda t ion  & Bed F rame

GOLIATH PLATFORM BASE

GOLIATH PLATFORM BASE GOLIATH PANELS

SIZE MODEL	
Full (XL)        GOL-FXL	
Queen        GOL-Q	
Hotel King          GOL-72HK	
King                GOL-76K	

SIZE MODEL	
Full (XL) G-PNLS-FXL
Queen G-PNLS-Q
Hotel King G-PNLS-72HK
King         G-PNLS-76K

Welded Wire Grid for Continuous Support



Goliath Base
BEDDING SUPPORT

EXTRA STORAGE – increased height for storage under bed (surface to floor 15 3/4”)

COMBINATION – 	foundation and bed frame in one

CONSTRUCTION – 100% steel throughout

EASY – easy assembly and setup

SIDE PANELS – optional side panels offer a traditional bed base look

Easy Assembly
Tools supplied for 
assembly

100% Steel Support
Welded frame; heavy-
gauge cross wires; 
tubular legs; supports 
up to 1,200 lbs.

Retainer Lip 
Increased lip around 
edges secures mattress

Side Panels
Snap-on paneling 
provides a sleek look

460033 – Full XL
460034 – Queen
460036 – King
460035 – Hotel King
*Goliath side panels set includes two side panels 
and one end panel sold separately from base

Goliath Side Panels (set of 3)*

460059 – Twin
460058 – Twin XL
460028 – Full XL
460030 – Queen
460032 – King
460031 – Hotel King

Goliath Base



www.dicksonfurniture.com

Available in King,Queen and Full XL
NO FOUNDATION/BOX SPRING REQUIRED

				

Metal Recessed Bed Frame
Construction • Fully welded steel.

• Rust resistant epoxy powder coated finish Black.
• Height of the bed frame is 17”H.

 Materials
Included 

• x1 Metal Bed Frame
• x4 Corner Braces legs.
• x16-1/4” -#20 Black Bolts.
• x16-5/16” Washer.
• x16-1/4”- 20 Hex Nut.
• x1 Metal Center leg with Leveler.
• x8-3/4” Wood Screws.
• x2 Metal Bed Frames. (King only.)

• x4 Bolts/x4 Washers/x4 Hex Nuts. (King Bed only - to connect the frames.) 

Materials • Powder coated steel top frame - Black.
• 18 horizontal triangle slats for mattress support.
• 4- panels with High Pressure Laminate.
• Bed Frame ships KD. Assembly is required.
• DFM warranties it’s products and craftsmanship for 5 years

from time of delivery.

*PLEASE READ CAREFULLY:
This is a recessed bed frame designed to keep the mattress from 

   sliding. The mattress should fit securely INSIDE the bed frame. Make sure your 
mattress is not too small or too large. 

Please measure your mattress size first.
(See *Inside Frame Size:)

If you have any questions or concerns, please ask your sales person

King Mattress: 75”Wx79”L        Queen Mattress: 59”Wx79”L       Full XL: 53”Wx79”L  

Item Item Number Overall Size
King AHB 5700FA 6BM KIT 751/4”Wx 79 1/4”L x 17”H

Queen AHB 5700FA 5BM KIT 591/4”W x 79 1/4”L x 17”H
Full XL AHB 5700FA 4XLBMKIT 53 1/4”W x 74 1/4”L x 17”H

• King  FR-108

• Queen FR-107

• FullXL FR- 106



King
Queen
Full Extra Large    




